

2026 Prize Distribution

Multi-State National Drawing

Prize Drawing	Number of Winners per Drawing	Prize Amounts Per Drawing	Total Annual Winners	Total Annual Prizes
Monthly	152	\$25.00	1824	\$45,600.00
	6	\$100.00	72	\$7,200.00
	1	\$1,000.00	12	\$12,000.00
Qty	2	\$50.00	8	\$400.00
	15	\$100.00	60	\$6,000.00
	10	\$200.00	40	\$8,000.00
	8	\$500.00	32	\$16,000.00
	7	\$1,000.00	28	\$28,000.00
	1	\$1,500.00	4	\$6,000.00
	1	\$5,000.00	4	\$20,000.00
Total			2084	\$149,200.00

*WA credit unions do not participate in the national drawing due to state legislation rules

2026 Prize Distribution Arkansas State Drawing

SAVE  WIN

Prize Drawings	Number of Winners per Drawing	Prize Amounts Per Drawing	Total Annual Winners	Total Annual Prizes
Monthly	1	\$25.00	12	\$300.00
Quarterly	1	\$20.00	4	\$80.00
Total			16	\$380.00

2026 Prize Distribution Kansas State Drawing

SAVE  WIN

Prize Drawings	Number of Winners per Drawing	Prize Amounts Per Drawing	Total Annual Winners	Total Annual Prizes
Monthly	4	\$25.00	48	\$1,200.00
Quarterly	3	\$25.00	12	\$300.00
	1	\$50.00	4	\$200.00
Total			64	\$1,700.00

2026 Prize Distribution

Missouri State Drawing

SAVE  WIN

Prize Drawings	Number of Winners per Drawing	Prize Amounts Per Drawing	Total Annual Winners	Total Annual Prizes
Monthly	1	\$25.00	12	\$300.00
Quarterly	1	\$25.00	4	\$100.00
Total			16	\$400.00

2026 Prize Distribution

Oklahoma State Drawing

SAVE  WIN

Prize Drawings	Number of Winners per Drawing	Prize Amounts Per Drawing	Total Annual Winners	Total Annual Prizes
Monthly	2	\$25.00	24	\$600.00
Quarterly	1	\$35.00	4	\$140.00
	1	\$50.00	4	\$200.00
	1	\$100.00	4	\$400.00
Total			36	\$1,340.00

2026 Prize Distribution

Oregon State Drawing

SAVE  WIN

Prize Drawings	Number of Winners per Drawing	Prize Amounts Per Drawing	Total Annual Winners	Total Annual Prizes
Monthly	5	\$25.00	60	\$1,500.00
Qtly	1	\$35.00	4	\$140.00
	2	\$100.00	8	\$800.00
	1	\$250.00	4	\$1,000.00
Total			76	\$3,440.00

2026 Prize Distribution

Texas State Drawing

SAVE  WIN

Prize Drawings	Number of Winners per Drawing	Prize Amounts Per Drawing	Total Annual Winners	Total Annual Prizes
Monthly	10	\$25.00	120	\$3,000.00
Qtly	1	\$20.00	4	\$80.00
	1	\$25.00	4	\$100.00
	2	\$50.00	8	\$400.00
	3	\$100.00	12	\$1,200.00
	1	\$500.00	4	\$2,000.00
Totals			152	\$6,780.00

2026 Prize Distribution

Washington State Drawing

SAVE  WIN

Prize Drawings	Number of Winners per Drawing	Prize Amounts Per Drawing	Total Annual Winners	Total Annual Prizes
Monthly	9	\$25.00	108	\$2,700.00
	1	\$50.00	12	\$600.00
Quarterly	4	\$25.00	16	\$400.00
	4	\$75.00	16	\$1,200.00
	1	\$100.00	4	\$400.00
	2	\$750.00	8	\$6,000.00
Annual	1	\$50.00	1	\$50.00
	1	\$100.00	1	\$100.00
	3	\$250.00	3	\$750.00
	1	\$1,000.00	1	\$1,000.00
Total			170	\$13,200.00